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QUESTION 1

Given these class definitions: 

Which class or classes compile? 

A. only MyClassB, MyClassC, and MyClassD 

B. only MyClassB 

C. MyClassA, MyClassB, MyClassC, and MyClassD 

D. only MyClassB and MyClassD 

Correct Answer: D 

 

QUESTION 2
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Identify two Java reserved words. 

A. array 

B. true 

C. this 

D. exception 

E. string 
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Correct Answer: BC 

Reference: https://www.computerhope.com/jargon/j/java_reserved_words.htm 

 

QUESTION 3

Given the code fragment: 

Which code fragment can be inserted at line n1 to enable the code to compile? 

A. new int num[]; 

B. int[] num; 

C. int[10] num; 

D. int num[10]; 

Correct Answer: B 

 

 

QUESTION 4

Which statement is true about a mutator method? 

A. It replaces the default constructor. 

B. It returns mutated instance members. 

C. It must be declared private. 

D. It can be used to assign data to instance members. 

Correct Answer: B 

Reference: https://core.ac.uk/download/pdf/4824892.pdf 

 

QUESTION 5

Given the code fragment: 
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What is the result? 

A. 10 

B. 11 

C. 12 

D. 13 

Correct Answer: C 
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